
5197 5197.5 5198 5198.5 5199
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

5938

5938.5

5939

5939.5

5940

5940.5

5941

5941.5

5942

ru
n

run:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 5940}



5197 5197.5 5198 5198.5 5199
cyclenum

113−

112.5−

112−

111.5−

111−

us
l_

1X

usl_1X:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

1−

0.5−

0

0.5

1

us
l_

4a
Y

usl_4aY:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

54.5

55

55.5

56

56.5

us
l_

4e
X

usl_4eX:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

21

21.5

22

22.5

23

us
l_

4e
Y

usl_4eY:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

43−

42.5−

42−

41.5−

41−us
l_

12
X

usl_12X:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

5938

5938.5

5939

5939.5

5940

5940.5

5941

5941.5

5942

ru
n

run:cyclenum {run == 5940}



5197 5197.5 5198 5198.5 5199
cyclenum

138.5−

138−

137.5−

137−

136.5−

us
r_

1X

usr_1X:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

0

0.5

1

1.5

2

us
r_

4a
Y

usr_4aY:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

201.5

202

202.5

203

203.5

us
r_

4e
X

usr_4eX:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

15.6

15.8

16

16.2

16.4

16.6

16.8

17

17.2

17.4

17.6

17.8

us
r_

4e
Y

usr_4eY:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

41.5−

41−

40.5−

40−

39.5−u
sr

_1
2X

usr_12X:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

5938

5938.5

5939

5939.5

5940

5940.5

5941

5941.5

5942

ru
n

run:cyclenum {run == 5940}



5197 5197.5 5198 5198.5 5199
cyclenum

22833.5

22834

22834.5

22835

22835.5

us
l_

co
il1

usl_coil1:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

3247.6

3247.8

3248

3248.2

3248.4

3248.6

3248.8

3249

3249.2

3249.4

3249.6

3249.8

us
l_

co
il3

usl_coil3:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

4258

4258.5

4259

4259.5

4260

us
l_

co
il4

usl_coil4:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

1333−

1332.5−

1332−

1331.5−

1331−

us
l_

co
il6

usl_coil6:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

2388

2388.5

2389

2389.5

2390

us
l_

co
il7

usl_coil7:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

5938

5938.5

5939

5939.5

5940

5940.5

5941

5941.5

5942

ru
n

run:cyclenum {run == 5940}



5197 5197.5 5198 5198.5 5199
cyclenum

19825.4−

19825.2−

19825−

19824.8−

19824.6−

19824.4−

19824.2−

19824−

19823.8−

19823.6−

19823.4−

19823.2−

us
r_

co
il1

usr_coil1:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

2713.5−

2713−

2712.5−

2712−

2711.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

3837

3837.2

3837.4

3837.6

3837.8

3838

3838.2

3838.4

3838.6

3838.8

3839

3839.2

us
r_

co
il4

usr_coil4:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

644.5−

644−

643.5−

643−

642.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

36114.2

36114.4

36114.6

36114.8

36115

36115.2

36115.4

36115.6

36115.8

36116

36116.2

36116.4

us
r_

co
il7

usr_coil7:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

5938

5938.5

5939

5939.5

5940

5940.5

5941

5941.5

5942

ru
n

run:cyclenum {run == 5940}



5197 5197.5 5198 5198.5 5199
cyclenum

282−

281.5−

281−

280.5−

280−1X
_c

oi
l1

1X_coil1:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

19.5−

19−

18.5−

18−

17.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

302

302.5

303

303.5

304

1X
_c

oi
l7

1X_coil7:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

337−

336.5−

336−

335.5−

335−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

43.8−

43.6−

43.4−

43.2−

43−

42.8−

42.6−

42.4−

42.2−

42−

41.8−

41.6−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

285.6

285.8

286

286.2

286.4

286.6

286.8

287

287.2

287.4

287.6

287.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 5940}



5197 5197.5 5198 5198.5 5199
cyclenum

174

174.5

175

175.5

176

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

34.5

35

35.5

36

36.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

9.5−

9−

8.5−

8−

7.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

179.6

179.8

180

180.2

180.4

180.6

180.8

181

181.2

181.4

181.6

181.8

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

28−

27.5−

27−

26.5−

26−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

5−

4.5−

4−

3.5−

3−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 5940}



5197 5197.5 5198 5198.5 5199
cyclenum

236−

235.5−

235−

234.5−

234−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

83−

82.5−

82−

81.5−

81−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

2.5

3

3.5

4

4.5

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

4.6

4.8

5

5.2

5.4

5.6

5.8

6

6.2

6.4

6.6

6.8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

492.5−

492−

491.5−

491−

490.5−12
X

_c
oi

l7

12X_coil7:cyclenum {run == 5940}

5197 5197.5 5198 5198.5 5199
cyclenum

5938

5938.5

5939

5939.5

5940

5940.5

5941

5941.5

5942

ru
n

run:cyclenum {run == 5940}


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


